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https://www.youtube.com/watch?v=jxQKqgzmLIeg
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L:cm 20 35 50 65

AL: cm 0.2 0.2 0.2 0.2

% :AL/L 1 0.57 0.4 0.31

tmoy: s 0.588 0.800 0.956 1.064

% :At/tmoy 0.17 0.12 0.10 0.09

t2moy: s2 0.346 0.640 0.914 1.124

ymoy: m/s?2 1.154 1.094 1.094 1.156

At2moy: s2 0.001 0.002 0.002 0.002

Ag/g: % 1.382 0.852 0.642 0.532

Ag : m/s2 0.12 0.07 0.06 0.05
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L 20 35 50 65

tmoy: s 0.588 0.800 0.956 1.064

% :At/tmoy 0.17 0.12 0.10 0.09

atmoy: s 0.041 0.031 0.026 0.023

:A(st)/atmoy 2.44 3.23 3.85 4.35

%
v= oL/ at: 0.658 0.806 0.962 1.190
m/s

% :Av/v 6.44 7.23 7.85 8.35

Av: m/s 0.039 0.058 0.076 0.091

(%) Ag/gexp 6.652 7.392 7.992 8.482

Ag: m/s2 0.52 0.58 0.62 0.66
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L (t) = 1/2 * y* t2= 1/2*(m1/m1+m2) * g*t2
tga = (65-20) * 0.01/(1.124-0.346)

tga= 0.57= 1/2 * (30/30+205.15) * gexp
gexp = 9.5 m/s2

s aulll &=l o

v(t) = (ml/ml1+m2) *g * t

tga= (1.190-0.658)/(1.064-0.588)= 1.127
tga= m1/(m1+m2) *gexp

gexp=7.87 m/s?2
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https://www.twinkl.com/teaching-wiki/qwanyn-nywtn-fy-alhrkt [04]
https://www.youtube.com/watch?v=y5tDo9Imm5c [2]

https://www.youtube.com/watch?v=jxQKqzmLIeg [3]
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